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1. BEBROR
(1) $2EUREE
g 0 12,097,160 A12,097,160
BRI 0 12,097,160 A12,097,160
(2) BEEHR
ZH 0 11,962,545 A11,962,545
BEER 0 11,962,545 A11,962,545
FT18 25 <5 SR 22 Al L R IR B 18R AE 0 134,615 A134,615
FHEE S FR 0 0 0
LHERRR R IBRAE 0 134,615 A134,615
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(1) FEE SR
BRI 0 0 0
(2) BENER
BENERG 0 0 0
LEREE S ERAE 0 0 0
5|5 S H — AR IERRBA EE IR RER 0 134,615 A134,615
LB — AR IE R BA IR R AR 0 134,615 A134,615
— R IERMESHEERS 0 1,034,519 A1,034,519
— AR IERREAEEIRTES 0 1,169,134 1,169,134
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L ETE E IE K BA FEIERAR 0 0 0
EEEKRMESREES 0 0 0
EEERB EERES 0 0 0
Il [ERREAEEEIRTES 0 1.169.134 A1.169.134
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